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PART -1: GENERALENGLISH

1.  What made the people think the Potter was humble?
(1) Hebowed to all the people -
(2)  He walked to the palace without climbing the horse
- (3) Heobeyed the tiger '
(4) He liked to be the general of the Army

2. Willyou try out this problem for me? (Identify the expression)
(1) giving permission - (2) seeking permission -
(3) seekinghelp . (4) suggestion . '

3.  Mrs. Slater was a Vigorous woman with straight talking.
What is the part of speech of the underlined word?
(I) Noun ' (2) Adverb
(3) Preposition (4) Adjective

“4.  What was the transformation brought by Wangari Maathai in women?
(1) She taught them to collect wood in the forest.

(2) She provided all the basic needs for them.

(3) She made the women feel confident and independent.

(4) Sheinvolved them in war and conflict.

5. Whaf did Roberge find in fay when he refused to spoil the reputation of the culprit?-

(1) humane concern - (2) aggressive approach
(3) intimidating . B (4) hatred and discontent

*6. - When Gopal (reach) the temple, it | (be) filled with devdtees.
(1) reached,is (2) reached, had been '

(3) reach,was ' - (4) reached, be

7. Ganesh plays cricket. He plays chess too.
(Combine the sentences with ‘not only-but also’)
(1) Ganesh plays not only cricket but also he plays chess.
(2) Ganeshplays not only cricket but chess also.

- (3) Ganesh plays not only cricket but also chess.
(4) Ganesh likes cricket not only, but also he plays chess.
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8. Whichare the ‘Alhteratwes among the followmg
a) easy-peasy AR b)" ~mish-mash |
¢) - helter-skelter : .. d) ting-tong ’ '
(1) @,0.@ @ 0@ (3) (andd @) (c)and(d)

9.  Why was the young teacher summoned by Lakshmana Sastry?
" (1) . The young teacher was new to school.
 (2) Because he wanted to see the young teacher. :
- (3) ' Because the young teacher tried to poison the minds of children on religious d1fferences.
(4) Because the young teacher did not have accommeodation in the v1llage

10. Howdowestartaletterm‘ALETTERTOAFRIEND”‘? ‘ | I
() Signature - (2) Subscription (3) Salutation =~ (4) Stationand date

11.  Youkeep this money It may be a help for you.
(Combine using “if”)
(1) Ifyoukeep this money, it may be a help for you.
* (2) - Youkeep this money, if it may be a help for you. -

(3) Ifyoukeep this money, it may not help you.
(4) Ifyou help me, keep thIS money.

12. Wherecanl get a few stationery 1tems'? (Change into Pollte request) .
(1) Where is the stationery shop?
(2) Please give us some stationery items.
(3) Could you please let me know where [ can geta few statlonery items?
(4) Getmeafew statlonery items.

* 13.  Which ofthe following have a concluding remarks in creative expression?
(1) Diary éntry o (2) - Aspeech
(3) Conversation : (4) Alltheabove

14. Identify the correct sentence. -

' (1) Thereisn’t enough food for all the invitees.
(2) There isn’t food enough for all the invitees.
(3) There is food for all the enough invitees.
(4) There is enough food for all the enough '@nvitees.

" 15. Inwhich ofthe folléwing letters, is the subject specifically mentioned?

(1) Letter to friend (2) Letter to mother
(3) Letter to uncle . . (4) Complaint letter
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16. A biographical sketch is
(1) the life history of one self.
(2) the life history of others.
(3) the history of great kings. :
(4) " thelife hlstory of assassinated personahtles

17. Mrs. Jordan isa . woman. (Choose aright word that fits to Mrs. Jordan’s character) ‘
(1 complacent - (2) greedy (3) mild and sober (4) (1) and (2)

18. . What was the threat to Sunday Nana’s village?
(1) children and chickens (2) poisonous chem1ca1 drums
(3) skull and cross bones . (4) the chief

19. Which of the sentences given below is defining relative clause?
(1) Joy, who could not get a job, felt depressed.
(2) The man who was selling balloons was very old and weak.
- (3) Rajani who lives next door, is a TV artist.
(4) Whois the world famous artist?

20. Identify the sentence that is in Present Perfect tense.
(1) Rupahas passed the test recently.
'(2) They had changed the residence address.
(3) Gowri delivered a wonderful speech.
(4) Children are makirg noise in the class.

Question No. 21 to 25 : Read the folloWing_passage and answer the questions.

There was a small village called Sonam. There was a young girl named Ema. Ema loved to
explore the meadows and woods around her home. Everyday, she would discover new and exciting
things in nature.

One Sunny morning, while Ema was wanderlng near a stream, she spotted a glimmering -
stone. It was unlike any stone she had seen before, and it filled her with wonder. She decided to
show it to her grandparents who were wise and know about precious gems.

To Ema’s surprise, his grandparents revealed that the stone was a rare and valuable gemstone
called a sapphire. Ema’s heart was filled with joy, and she learned that sometimes, the most
precious treasures can be found in the snnplest places.

'21. What did Ema discover while wandering near a stream?
(1) avillage . (2) meadows
(3) nature _ (4) glimmering stone
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) Who revealed the identity of the glim-mering stone to Bma? ‘ E
(1) grandparents  (2) parents (3) . neighbours  (4) friends
23. What did Ema find near the stream? o -
(1) Asapphire (2) Apearl ~ (3) -Aseashell (4) Anpebble
+ 24. Whatdid the grandparents reveal about the stone‘7
~ (1) Itwasarare stone. o .~ (2) Itwasavaluable stone.
(3) Itwasagemstone. . .. (4) Alltheabove.
25. _Which word in the passagé méans ‘to disclosg’ ?
. (1) reveal (2) joy (3) treasure.  (4) precious
26. What does Lincoln’s life teach us in the lesson
‘Every success story is_also a story of fhilures’ -
(1) Success can be achieved only at 52.
(2) Tosucceed in life is very difficult.
'(3) - A-relentless hard work can give success.
(4) Failure is not a stepping stone to success.
" 27. ‘Which among the following is an Advice?
(1) You should not wear helmet while driving.
(2) You should consult a doctor for your ill health. -
(3) Come tomy place for entertainment.
(4) We should go to school late, shouldn’t we?
28. The crops grew well this year. We are happy with profits.
(Combine the sentences using ‘since’)
(1) Since we are happy with profits, the crops this year grew well:
(2) Since the crops grew well this year, we are happy'with-proﬁts. '
(3) The crops since this year grew well, we h are happy this year.
(4) The crops this year grew well, we are happy since with profits.
9. “lamsorry,l _Czinnot go with you™. (Identify the expression)

(1) Seeking permission . (2) Refusing permission

(3) Expressing inability (4) Expressing fear
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30. . Why did the house wife in the lesson “What is My Name’ forget her name?
(1) Because she made scrubbing and swabbing as the chief mission in her life.
(2) Because she became busy with her office work.
(3) Because she lost her memory.

- (4) Because her husband didn’t like her name.

31. Amanwho loves mankind is
(1) Superman (2) Philanthropist

(3) Physicist . (4) Fatalist

32. Fillin the blank with an indefinite pronoun.
is perfect in this world.
(1Y She ' (2) Noone
(3) Myself - (4) He

33. Change the Voice.
Guru started a new business.

(1) Anew business was started by Guru.
(2) A new business has been started by Guru.
(3) Guru’s newbusiness was started.

(4) Anew business is being started by Guru.

34. Usethe fight Prepositional Phrases.

bus strike, I will drop my trip to,Mysore.'
(1) Inspite of (2) Instead of
(3) Incaseof : A (4) Accordingto

35, Ray was an aloof and intimidating person for the outsiders.
(Identify the synonym of the underlined) | o
(1) frightening ' (2) encouraging
(3) intolerate ' (4) intellectual

36. Inthe poem ‘A plea for India’, what was the central theme?
{1) Unending violence (2) Riots
(3) Proudand Conﬁ'dent (4) Unity
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37.  He .(g'ive‘) an entrance test beforehe - - (join) Air force. - -
(1) hadgive, entered - . - (2) sgave, enter '
(3) hadgiven, entered - . . (4) givenand entered

38. Savitri was awarded the title ‘Mahanati’ for her .
(1) good number of movies
© (2) for her successful direction
(3) forher humanity and generosity
(4) forher unbeatable talent

39. What was the father’s urge to his son in ¢ Once Upon A Time’?
(1) Father wants to shake hands with frlends
(2) Father wants to relearn how to laugh.

".(3) Father wants to change faces according to. the situation.
(4) Noneofthe above. o

40. Whlch is NOT a correct statement about Abel Merry Weather? :
' (1) Abel Merry weather stayed some days with Amelia and a part of tnne with Ellzabeth
. (2) Abel Merry weather announced his mamage with John Shorrocks.
' (3) Abel Merry weathér was dead. -
(4) Abel Merry weather wanted to change his will.

41. Veenais fond _ - music, 7 ‘ .
(1) to. (2) of . 3) by . . (4 with
42. Thaven’tgot apples in my basket.
(1) some (2) each  (3) awy )] every |

43. The Government has declared emergency. (Change the voice) |
| (1) Emergency has been declared by the Government.-
(2). Emergency is declared by the Government.
. (3) Emergency is being'declared by the Government. -
(4) Emergency was declared by the Government.
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44, Some ofthe students scored low marks in the Exams; , the teacher arranged a
~ series of remedial classes. '
(1) sothat . _ (2) because
. (3) inspiteof (4) consequently

45. Who influenced Kalam in his childhood that changed his future?
(1). Ramanatha Sastry ' (2) SivaSubramanialyer
{3) Youngteacher - - | (4) Kalam’s father

46. Narayana Murthy was by nature.
(1) selfish | S | (2) malicious
(3) introvert | (4) timid

47. What does the poet wish to convey through the poeém ‘Or Will the Dreamer Wake?’
(1) the desire to wake up the human being. '
(2) thepeople’s reluctance towards the protection of animal world.
(3) the need to stop the extinction of animals.

(4) alltheabove

48, What stopped the narrator from carrying his luggage?-

(1) thenarrators education '
+(2) the narrators white collar job
(3) thenarrators laziness
@) (1)and(2)
" 49. What is the one-word substitute for ‘A hand written document’?

(1) manuscript . (2) mandocs
(3). newsitem . | (4) monologue

50. The accident sadly resulted ] the death of a man.
(1) by - (2 to
3) ‘in _ . (4) into
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PART -II : MATHEMATICS

51. The solution of the equation log, (loggx )J =0is

x2 ‘ | .
19g-, (log& )J=0 % dAoEdwo R, TGS

(1) x=1 @ x=x2  (3) x=4 (4 x=%7
52. 7If_log'x2y2'=a and lo_g£',=b then logx =
| y logy
logx*y? = a 08050 1og-x—=5 dond logx _
o y v legy
) a-3b : - 2‘ a+3b
1) a+2b L '(.)_d—Zb
o a2 - - 4 a—2b
3) a—2b (_) a+3b
53. Which ofthe following is an irrational number?
Bod TIS* DB §8e8a% Howg? ‘
7 _ |
(1) - (2) 235 , 3) = _ (4) 3.1416

54, pr=2§<4x6x...XZOandQ=1><3><5><...>< 19 then the HCF of P and Q is
p=2x4x6x..x20%508050 Q=1x3x5x...x 19 wond P %Hoain Q o K.ar.ar.

(1) 3*.5.7 (2) 3“‘-5 - 3) 3*.5%.7 4) 3*.5°

55.  Which of the following istrue,ifA={1,2, {3,4}, {5}}?
A={1,2,{3,4}, {5}} ©on8 ot TIS* Db J&g0?
(1) {3.4)cA . (2) 3eA
(3) n(A)=5 4) {s)eA
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56. Match the following.
BoB TR wEHKHBM,

_ A g !
p) - A—(—BUC) | a)
. c
‘ |33
9 (A-B)N(A-C) b)
o . A B M
r)  A-(BNC) o)
' c
_ n
s) (A-B)U(A-C) -4 )
(1) p>aq—obrocs—od (2) poagobrods—oc
(3) p—»c,gq—>cr—as—a ' (4) p—>aq—>dr—>cs—>b
57. Statementl: A= {x cxeZ and x < S} is a finite set.
StatementIl: B={x:xeN and x<1} is anull set.
Choose the correct answer. : .
(1). TandII both are true. (2) TandIIbothare false.
(3) listrue, ILis false. - (4) Iisfalse, Ilis true
@SuESo It A={x:xeZ 50050 x<5} af H008 H08.
@3380 I1:  B={x:xeN mbom0 x<1} uf &g 508,
JB@S dSre ) 8 Sos0. -
(1) TS8csn [T en Bodr Hego (2) "I08050 I en Dodr e@dego
(3) Id&g0, Meddgo (4) lodggo, Idgg0

V-Maths ' - 11-A
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~ roots of the equation.

58. Ifn(A)-“IS n(B)=13 and n(AnB) 10 then n[ (AUB)- (AnB)]_
o n(A)=15,n(B)—13 5005 n(ANB)=10 wowd n[(AUB)- (AnB)]
M1 (2) 12 : (3) 10 4y 8
59. Ifa, Barethezeroes of the polynomial p(x)=x +3x 4. Then ﬁndaquadratlc polynomlal
' whose zeroes are a” and 2.
L px) =x?+3x -4 0 advdd Bok r‘és"mgoo oL, B o0 @oaoé of B2 "‘55‘;‘0‘8&)?‘1"’ ﬁams
8 38 2IT0ReR R0iroKm. : | _
(1) 22 —dx 47 (2) x2=3x+7 (3) x —l7x+16 4) x —16x+17
60. Ifa, B, y are the zeroes of ax® + bx® + cx + d. Then match the followmg :
a By e ax® +bx2+cx+ ds‘o %ra“geowé Bod T aéo&ozﬁ::ﬁw
o 1 1 1 : . a
— = ' ' ——
. p) a pf | ¥ -~ . o 2) d
D Ly ) B
SRR - »
Dt o
aff Pr ra d -
' 1-1 1 ' ' b* —2ac
_.—.—-—; d
‘ ) a fy ' ) a? : ,
‘(1) p——>b q—)d r—vc, s—>a (2) p—>aq—br—>cs—>d .
(3 p—ocgq—rar—>ds—o>b - (4) p—>dq—oecr—>as—>b
61, Ifone of the zeroes of x* + ax? + bx + ¢ is —1 then the product of other two zeroes may be
X3 4 ax? bx + c o3 2F0Hd Gng), o Erdgo -1 @ond QRO Bodod ;5:)‘55"50.0%36 dod
o0 wdsdo wod? ' o |
(1) b—a+1 = (2) b-a-1 (3) a-b+1l (4) a-b-1
- 62. if the sum of the roots of the equation = 1 is zefo, then the prbduct of the

x+a x+b ¢

1 '-}--*1— -1 s H¥dmo @), Srore Ingo 07 vond, @ HoEdeo0 cfjooézr
x+a x+b ¢ ~

- drere 'oaaao

a® + b (024“52) ab ‘ '(a+bj2;‘
5 (2) EEE— ) 5 (+) 5

(D)

'V-Maths . 12-A
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63

For what value of £, do the equations 3(k—1) x + 4y 24 and 15x + 20y = 8(k + 13) have
infinite solutions?
koBoaézr @ Deod% 3(k— 1) x + 4y =24 508050 15x + 20y 8(k + 13) oo ai’bédemm
w08 >SS0 DA Sodrron? ) ‘
omr @ 2 3) 3 4) 4
64. If an ordered pair satisfying the equations 2x — 3}*’ = 18 and 4x —y = 16 also satisfies the
equation 5x — py — 23 =0 then the value of ‘p’ =
2x -3y =18 508050 4x—y = 16 oo &y H0F 2. @moﬁwﬁ&o 5x—py-— 23 0:60 SSdell
Sy 20, P’ Jewd . .
() 1 | 2) 2 () -l (4) -2
65. Value of ‘%’ from the equations 2™ '=2"7 = V32,
27 =27 =32 ek osdere $08 X Do
1) 0 | o 2A 2 3 L 4 3
Mo @5 @ ®5 @y
66. Assertion: The pair of equations y = 0 and y =—8 has no common solution.

Reason:  The liney=mx, (m € R) is passmg through the or1g1n

Now, choose the correct answer.

(1) Both Assertion and Reason are true and Reason supports the Assertion.

(2) Both Assertion and Reason are true, but Reason does not supports the Assertion.
(3) Ass'ertion is true, but Reason is false.

'(4) Assertion is false, but Reason is true.

PELS 1 y=0%0850 y ——8 © JElerre 2ss &B’D&)& S eolsid.
60 : y=mx, (meR) 0 860y SoroDothy Ko SFdob.
B9t HOGH BEFTTRY S0,

(1) @888, s°8ewo dod> Bega, 5;6051) BE0S5, sdwo $:5088308.

(2) B85S, 560 Bokr HEgRo, 57 FTEW0, PELID Jogoudo.

(3) WELS vdg0, 5 TEWo wdEgo,

(4) BELS ©dEg0, SR w0 d&g0.
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- 67.

I A= tan21° tan19°%, B = 2 cot71°- cot69° then
A =tan21°tan19°, B = 2 cot71°: cot69° ewoxd S |
(1) 24=B ~  (2) 2A=3B _ (3) A=2B (4) A=B:

68.

sind=0.908=> cos(90-8)=___. |
(1) 0.908 (2) 0.092 (3) 59.092 . 4 1

- 69.

If x =2sin? 6,y =2cos> @ +1 then which of the following is true?

x=2sin?6,y = 2cos> 6+1 wond §od IS’ 98 éé§o?‘

(1) x-y=1 () x+y=2 (3). x+y=3 @) R+y2=3

70.

J PNV PR » . oA
If {-4+4/8 +16cosec’ @ +sin” & = A cosecd + Bsin @ then the value of§=
(here 0° < f< 90°). -

A
\/-4 + \/8 +16cosect@+sin* @ = A cosecd +Bsinfd eowd B dad =

(2s5y80 0° < 6<90°).

71,

(1y -1 2) 2 . (3) 2 4) 1

cos? 2° + cos” 4° + 0052_6" +...+08%90° =

72.

(1) 23 ' (2) 22 ' G 1 4) 0
1] o :

If cosa = 5 and sin 8 =2 then the value of o+ 8=

(0° < <£90° 0° < B <90°)

- . 1
cosa:% SoBadw smﬂ=—2- wond o+ fB=

(0° < o< 90°, 0° < B < 90°) | | |
(1) 60° (2) 90° o (3) 45° (@) 30°

. 73,

l—-cos@ 2x

If x= then =
1+ cos@ 1= x2

. I'=cos@
‘Y1+cosd 1—x?

- (1) sin@- (2) cos@ (3) cot@ (4) tan@

. V-Maths | 14-A
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74. Solve x = L 0 x#2
_ 2_ ]
2.
2—-x
X= lkl ;X #2 S PHothdn
2~ 1
9=
2—-x
(1) 4 2) -3 (3 2 4 I
75. Ifsine and cosa are the roots of the equétion ax? + bx + ¢ =0 then % =
ax? + bx + ¢ = 0 @5 3DE8w Soreren sing, coso wond H? =
(1) c2+2ac (@) d+ac (3) &®+2ac (4) A+ac
76. Find the quadratic equation, if x = \/ >+ x/ 5++5+..00 andxisareal number.
x wf dHNBopg 50BN x—\/5+\/5+\/5+ 0 e—soooé“? &I wf SEINEwmo
S0 Sod0. . :
(1) x*-x-5=0 (2) x2+x-5=0
(3) x*-x+5=0 ‘ 4) P*+x+5=0
77. The values of ‘&’ fdr which the roots of quadratic equation x? + 4x + £ = 0 are real.
Tt dx+ k=0 0 $E80EE@0 Sarerey TTrer ®ond b Dendeo
(1) k24 (2) k<4 (3) k=—4 (4) k<-4
78. The pole of 9 m high casts a shadow 33 m long on the ground, then the Sur’s elevation is
9 b, 23S 08 Bowsis 3o W3 Do, o s aq)aa:s 0B wdog&)é“ Sos
igeE'eo
(1) 60° | (2) 45° . (3) 30° - 4) 90°
79. How many multiples of 5 are there in between 33 and 3727

33 308080 372 © Boglg 5 B, Mederen A rodrron?
(1) 66 (2) 63 (3) 68 (4) 67

V-Maths 15-A
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80. One ofthe values 6f ‘x’ which satisfies the equatlon\/ \/ == (threx;t?a
, 3-x
andx;tO) R
\/ \f =— @a’n ‘obaééear"&)nl é)-o 0“361':3 X 633352, 2.8 é’.)e:aa') (azﬁt)éa x#3,x# 0)
m 1 @2 )3 R (4) 4
' 81. Find the sum of the series S
& @B ooy, o Jod? . , .
1+(1+2)+(1+2+3)+(1+2+3 +4)+ +(1+2_+3+...,+20) D
(D 1470 ' (2) 1540 | ) 161,0 (4. 1370
82. 'If1+3+5+ uptonterms—9thenthevalueofn s S
2+5+8+... upto 8 terms
1+34+5+. . ndwe 266&’\3_9' ©osod ‘n’é)u)é’a
2+5+8+.. SdHore S8 ,
(1) 30 - (2) 28 (3)_. 25 - - @4 35
| | h . .. 1 h . 1 . th '
83.. If'the m'" term of an A.P. is - and n'" term is - then the (mm)™ term is
o8 ©oEERS” md Heo e nH H&o " ®ond (mn) $. 380’
H o | ) 1 N g L1 '4;4, |
ORI @) @ oty @ Hmen
"84, Find the siopé of the line joiﬁingthe points (logg,log?)ﬂand‘(loglzﬁ,loggl), |
(log%,log?) 308050 (loglze',loggl) @ é)ocﬁaa’g)e:zéa S0 &66630 G0o%), a0 g
(1) log2 @1 @) 2 (%, 0
85. Find the length of the longest s1de of the trlanglc formed by the line 3x + 4y=12 with the

co-ordinate axes.
3x + 4y = 12 $08050 JEFH5 s’ J6YE @aﬁoa&oé"&) ©8 D¢ §Hno FEH Jod?
(1) 9 2) 16 - (3) 5 o @7
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86.

If (2, 4) is the mid-point of the line-segment joining (6, 3) and (a, 5) then the value of
is - -

(6, 3) %0805 (a, 5) 0> Seni) Drpodo ¢y VoD (2, 4) ®ond a =

S 2 @4 3 4 RO

&7.

In AABC, MN // BC, the area of quadrilateral MBCN =130 sq.cm. IfAN:NC=4:5then
the area of AMAN is sq.om.

AABC &° MN // BC. MBCN &% wsdodyye Brogo = 130330, AN :NC=4:5 wond
AMAN J7og0  $o.o. '

B . —C | |
(1) 32 2) 45 3) 36 @) 39

88.

In AABC, if ZB =90°, BD is altitude on AC and AB = ¢, BC =@, AC = b, BD = pthen
AABC &* /B =90°, AC 5% Ao &)@ BD 5060 AB =¢,BC =a,AC =5, BD =p wond

A
b
c D
p
B 3 c
111 o111
(1) I’ az‘bz (2) > a b
3 —1+ ' 4 _1_--...}....;...}_
(). 2- 7 4 27373

b _ p- a ¢
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89.

If the ratio of the correspondmg medians of two smnlar triangles is 2:3 and the'area of the
smaller triangle is 48 cm?; then find the area of the larger triangle.

(1) 108cm?® ~ (2) 72cm? (3) 96 cm? .4 144 cm?

Bodk BErD @ebaro wdrd SHdgid dpo SR 2:3 Sodoio THS AF) @%oao
- R0y, FFrogo 48 <. 0.5, ©wond D @Bﬁm BTogo S

(1) 10850 (2) T28Tod. () 96ubods (4) 14450,

90.

From a point ‘P” which is at a distance of 5 cm from the centre ‘O’ of a circle of radius

3 cm, the pair of tangents PA and PB drawn to the circle. Then the area of the quadrilateral

PAOBis . cm*
3 oo, Fgdgorr, ‘O’ Soorr ko 308 & ﬁo@o 5008 500.50. GorS0s® Ko

ey é)ocﬁo:.’g) ‘P’.%ood PA 58050 PB @3 5)didpen Achadsd oS Wi Qdo)&ss

- PAOB &3 séodyzo 37eg0 %.300.20.

(1 12 @ 20 - (3) 15 (4 25

91.

In the figure, PA and PB are tangents of a circle with centre ‘O’ from a point ‘P’ and
ZAPB=60°. What s the value of ZAOB? -

D0 008 ‘O’ Boorr Ko S)ads ‘P’ Hod Achndd 9)dpes PA, PB LAPB =60°
®ond LAOB=? |

(1) 90° () 100° - (3) 120° 4) 60°

ViMaths | 18-A
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92.

If the sides of a right triangle are x, 3x + 3 and 3x + 4 then the value of x is
X, 3x +3 500050 3x + 4 o0 28 wonsn BeHasn R gheren wond, xJwod
1 9 (2) 8 (3) 7 | (4) 6
93. Five cubes, each of edge 2 cm, are joined end to end. What js the total surface area of the
 resulting cuboid in cm?? | |
ot 2 0., ™ Ko 5 T8 LETITES DI Jowd w8800 8 56q13£60n'°
Sr3)8 R Sorgse Ba‘ogo $.20.5. ©&° Jog?
(1) 88 - (2) 40 3) 60 ' - (4) 56
94. Aconeof height 24 cm and base radius 6 cm is made up of modelling clay. A child reshapes
it in the form of a sphere. Find the radius of the sphere.
(1) 8cm ' | (2) 6cm
(3) 9cm . ® 12em
SrddoR Th HHG8° 24 0.Do. D& H6c0 & FEo 6 o.M, Godbiy e FofH
EoirBohadod. uf DTEY A ErHErY Fvom SrGTd. wond TR Fgrgo
dod?" o | ‘
(1) 8 o.n. | (2) 6 20.20.
(3) 9 o.do. ' (4) 12 vo.d.
95. All face cards are removed from a deck of cards of 52 and one card 1s taken randomly from
remaining cards. What is the probability of getting a black ace?
52 sSoaézrm He a,s‘ ¥ 88y Sood ©J) “.’mms"@m FOR0DAID. DADS a‘éﬁ 2008
oﬁrdﬁgéom e S‘dg“&) 8 90 Seod) IV vHLS fo tooara")gé o7
0 ) = p = T L
(1) - @ 26 () 40 () 20
96. The probability ohf an event ‘E’ is a number such that

28 Dol ‘B’ Bk, Hogrdgd & o otnod.
(1) 0<P(E)<1 (@) 0<PE)<I
(3) 0<PE)<1 (@ 0<PE)<I
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97. Ifanumber ‘x’is chosen randomly from the numbers 1, 2; 3, 4 and another number y is-
selected randomly from the numbers 1,4, 9, 16 ‘Then match the probab111t1es of. the
following. :

1,2,3, 408 coomse :&305’9 oﬁrdﬁ;éom X’ 3 coosngeéo 1,4,9,16 @360 Dopge ééaoé |
oﬁrcﬁﬁ)éom Y 03 Jopg JHNFAS §od 78 SoarSggen aé@&)ﬁaa’m o

p P<D= @) 5

9 P<d= b

ry Ply<9)= ) 6

s)  Ply<16)= d 0
- Now, choose the correct answer.

L adyd @S JSrrard) JSgFResw. o
1) p2aq-obro>cs—>d. . (2) p—dg—rcrobs—a
(3) p—>aq->br-o>ds—c - (4 poc,g=dr—as—b

- 98. Thetotal surface area ofa sohdhemlsphere is 1087 cm?2. The volume of the hemisphere is
Cemd. : '
cpazé @gﬁﬁéo cfboéb ‘ooogrdéea Be‘ogo 1081t 5.0, §’.b 90208 D qwzéaa:éreao
0.0, ) o -
(1) - 144z (@) 546 @3y 72n . (4) 1086
‘ ' .. i -
99. Ifthe mean ofx and < is M, then the mean of x> and —
X SoBafy = © ko M eond 13 $0ek - o Bt =
X : ‘ X .
‘ '3 | 3 2 M’ -3
(1) M o (2) MP+3 3) M@#M*-3) (4) >
100.

The mean and median of the data a, b and ¢ are respectively 50 and 35, wherea<b<c.If
c—a=55,thenb-a= '

a<b<e¢ a,bddddn co @oéa’wcﬁsmm S0Basn - SoggrESed $&%m 50 B8k
35,c—a=550008 b—a=

(1) 8 @ 7 e s - @ 3
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101.

PART - 111 : PHYSICAL SCIENCES

if A, B, C are under thermal contact then in which of'the following conditioﬁ heat will be
transferred from A to both B and C.

(1) Temperature of A,BarelessthanC (2) Temperature of A, B are more than C
(3) Temperature of B, CarelessthanA ~ (4) Temperature of B, C are more than A
A, B, C oo 590 H))e* eiond Lé‘,o& TS D = Sodgjoe® Ggo A $0od) B,Co .
Bohotdd 2bITKw. 7 '
(1) A,Beo & Csa 8598 ‘
3) B,Co ﬁraﬁ@é Aéa:l VR

2) ABo ﬁq@é C Samy D8y

102.

| Specific heat in cal/g-°C .

(4) B,Co &Zs As) 28938
A B C "D

0.095 0.115 0.21 0.031

From the above table WhICh one of the material has more reluctance towards change in
temperature

Material

oacs"go A B C D
D3FRO Eeﬁ"&/@“-"c 0.095 - 0115 0.21 - 0.031
» J8E 3630:‘1) N oa‘o*&)é ﬁ%uﬁé 3’)3"(5%:‘55’\3 NELRY Déwaaé £ wolnok.
i) A (2) B (3) C. (4) D
103. Dogs panting on hot days the basic physical phenomené initis :
(1) Evaporation (2) Condensation (3) Freezing (4) Melting

3&m &) Ferod® HH o Teof AL wowheran (Br Hrddoxn). HAS* &)
(EDE FEE GyAichabo ‘ ' '
(2) a’ro@édeao :

104.

(1) erayesso - (3) Hodgds0 (4) 8880
1 calorie is equal to Joules. |
13s% _FHS ddiSo.

(1) 4186x10° (2) 41.86x10° (3) 418  (4) 418.6 x 103

105.

The heat energy required to change 10 g of ice at —10°C into water vapour at 100°C is
(at 1 atmospheric pressure)

(1) 7250 calories -(2) 7250 K calories -

(3) 9250 calories (4) 9250K calories . :
—10°C $¢58) 10 grine Soowwds 100°C 3¢ Ko A eddmr Sedqytsds s500S ﬁarﬁ

13&3&‘00)65 580 :,ch)

(1) 7250 8e*Gen
(3) 9250 3e5*Bew

2) 7250 835%6e0
(4) 9250 835%6e0

V-Phy.Sciences
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- 106.

The value of latent heat of vaporisation of water is

(1), 540 calories/gm. (2) 540K calories/gram

(3) 80 calories/gm (4) 80K calories/gm

DS eSS HEFho dend - -

(1) 540 Be5*Ben/yro. (2) 540 835 Ben/ro.

(3) . 80 35* 60/ |0, (4) 80 &3 Ben/ro.
107. The Visiblé colour part of éye is T 7 , -

(1) cornea (2) iris (3) retina (4) aqueous humor

Eo83e5* 508 Soihd @rodo | S | '
() s (2) ©0% 3) oz (4) 388 GSo
108. Real images are always ' : -.

(1) can be traced on screen, erected . (2) can’t be traced on screen, erccted

. (3) canbetraced onscreen, inverted . (4) can’t be traced on screen, inverted
2a H8Dowo J0IPE® ) .

(1) 88 & dyffoo, derd (2) B8 Hois HyBo, i

(3) 86 Hos d&Hwo, SoGothen (4) 85 2368 H8Bo, SoEodows
109. Mirages formed due to '

(1) Dew | (2) ‘Fog

(3) Total internal reflection . (4) Scattering

DodSrHeo DEYELrI8 560 | o

(1) éardo (2) >FKSo0uH

(3) SoFrgodd HoESo (4) HBgHeo

- 110.

Which letter represents angle of deviation in the above diagram?

* V-Phy.Sciences

() K (2) LandN 3) M (4) P

D H00st D @Fo DS Swrd) SrH00? .

() K (2) L&dosoN  (3) M 4) P
22-A
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- 111 iy \u A

| H2 2 ' '
’\34 B

Ha ' b\ :

Refractive indices of A, B, Care 1), by, 1 respectively. £1 = £2, £3 > Z4, then which of
the following relation is correct?

A, B, C o &n¥, $8558 Heosmed SEdT “19 oy Myt L1 =22, 23> L4 w008 Bod
TAS* o) Howoo ‘oégéw

SO RN TRNTIEATINN ) BT TRRTICS u3 3) =y u<p, 4 =, u3<u1

~ 112. Anobject is placed at 20 cm before a biconvex lens having focal length of 1 0 cm. Then it’s

image formed from the lens.

(1) atl0cm B (2) . between 10cmand20cm

(3) at20cm : ' (4) beyond 20 cm

10 cm & Srefgoddo o a Bozrs s o Swodh 20 cm o .‘5aooc:63 2.8 530 50008
& P&Howo E¥o Sood : A8 Bo0d,

(1) 10o.a0. © 3¢ (2) 10o0.0. 0%, 20 Do.. o .;63453
(3) 2030, © 3G (4) 20 %0.. 0% ude o

113. A glass slab of thickness of *#* and having refractive index as ‘p’. Ifit is keptin the path of
light ray. Then the shift (Ax) of ray is

‘¢ $0go Ko mrer dof ‘U SEHSS r‘bea?&)ol 07 @od. oD 570 e ;’brgoe'i"
%od8 & 88w JTHdo (Ax) = .

1 1 . .
0 ﬂ[l-;] @) f[‘l-;] () (u-1) @ pe-1)

114. The power of a convex lens of focal length 50 cm is D.
50 R0.0. SEigoddo Ko e fogrsd ELE >gso D.
1
(1) 5 (2) 50 3 2 @ 3
115. Which one of the following w111 have the choice to be the wave Iength of violet colour in
VIBGVOR?
god >Qe* 30§ VIBGVOR e dnmrdorh &aof) édoﬁag)go &g eistdo v,
(1) 7900A (2) 6000A (3) 4800A (4) 4000A
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116

- {4) Beyond2F,
- 00" By, H8Dowo
(1)

3
O

The i 11nage of 00 forms
(1) At2F, '
(2). AtE,

(3) BetweenF,,2F,

2F, 8¢ . .
F, $¢ | . o ¥
F,, 2F, & S0

2F, % el

)

IO' A
2‘.)63653«‘63 . . O:

117.

2Q, 3Q), 4 are connected in series then the resultant resistance is

20, 3Q, 4Q o @ ‘oocs“(‘éoeS" §é’):o§ 0O {06‘(:50

M 19 2) 90 12

G o @

13

118.
- (1) Ampere
. Afogd o (i) Swogy S.IL B0

S.L unit of Electric Current (i) is

(2) Ohm 3). Volt 0

(1) wodohs  (2) &5 (3) '(4)

Hertz

119.

Which of following represents ohmics in graphs?
Bod S* Locsro drdod (T 28?7

A . ' : o,

(2) I

i

i .
W 1

. T A

o | @ I

V— V—
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120, Theresistance ofa conductmg wire is R. What will be the resistance ifit’s length is doubled
and area of cross section is hatved?

28 T 8 @) %o R. o S?Jvcé:é)zéa BGoDy WD, 53"'5835)‘5 3-3"’&3‘“5«'0‘:1 SfoBR
93635 N80 Joes? .

1 1

(1) 4R - @ R (3) 2R @ 3R
121. Eleciric Power (P) =
Desogd agso (P) =
V4! oy I’R
1 — 2 3), — 4) IPR
® = @ & NORE R O
122. Tesla means
By edmr
Wb | Wb - ‘
() — ©(2) Wb-m? 3) — (4) Wb-n
m m
123. Which of the following is not an application of Faraday’s law.
(1) Incandescent bulb < (2) ATMcard
'(3) HeadinTaperecorder - . (4) Inductionstove -
1808 TAS* DB PEB dohrHoo Qg voddso sk,
(1) &ydy e (2) AIMs§
3) 85 os°gss* G (4) =08ES S

124, Magneti(_; field force on a charge, moving parallel to the magnetic field (6 = 0)
() 1 2 0 (3) -1 : (4) Infinite
‘e—smcﬁvz',oé LE08 SSrosdomr €68 o¥ 3§07 o vk o8 3¥ wwo ©=0)

(1 1 (2) 0 - (3) -l (4) wsoso

125. The enlarged form of rms (In Electromagnetism)
(D&og o od&ros’) ms By IHyE srHo
(1) rightmid square .. (2) rootmid square
(3) right meansquare | " (4) rootmean square

V-Phy.Sciences , - 25-A
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126.

Read the following and choose correct optlon Select common properties for both Acid
and base from the following.

a) - Reaction with metals produce Hydrogen gas

b)  Reaction with metal Carbonates produce Carbon dioxide gas.

c)  Conduct electricity in aqueous state.

d) Colourwill changc with phenolphthalein indicator.

(1) only (c)is correct ' - (2) (a), (b)are correct

(3) (a), (c) are.correct " (4) (a), (b), (c), (d) are correct

Sob B PO Hoboko &6033:5 ST T W) o)séoalg‘oé @o& ¢ Sood 80 :Sobd’m

- gro Bo&odss Ko ﬁa’)oé}& oo ISk

2) STod Wy WF'RS TSndd 88 Bdyod.
b) &% RS S8 SES B 6§if Toindh w8 Sig0d.

¢)  wo @Hn P8ST s PSrodEIon.
d) - 2RDS SrOES Goh Srdiaron.

(1) (c) SmED $608 Q) (@), (b) w0 BOTBD

(3) (@), (c) e $BGSD @) (@), (), (©), (d) @ H6@8D

127.

Which of the following will produce acidic salt on neutralization with H,SO,,
H,S0, & 0g88em $58§ S0l 6 olwrd) & $od ads° 8 ﬁe‘ﬁg& Boﬁoﬁocﬁ:
(1) HCI (2) CH; COOH - (3) HNO, (4) Mg(OH),

128.

On adding few drops of universal indicator to three unknown colourless solutions (X), (Y) and

. (Z) taken separately in three test tubes. Tulasi observed that the changes in colour as greenin
(X), red in (¥) and blue in (Z). The decreasing order of pH of the taken solutions is

Soxcsy $88 o980S* (X), (Y), (Z) ol I BOCHY, SoiHBD Sorth ESre §"Q1
%), 0 FEBE SrES Seodnr, (X) &° ehdg), (Y) &° 260 Sodaso (Z) s* Qo8ot
SrE@ER) Sod Hododed. B82KHK) wrdere pH dhde Edo

- 129.

(1) X>Y>Z Q) Y>Z>X (3) Y>X>Z @ Z>X>Y

Identify the incorrect statement from the following.

(1) Universal indicator is used to know the strength of acid or base. '

(2) -As the pH value increases from 7 to 14, concentration of [H*] ions in the solution
increases.

(3) Higher the hydronium ion concentration lower the pH value.
(4) pH value of a solution is less than 7, it is acidic i in nature.

Bod FAS* H0IB 5 T5°gd) KoBowod. .

(1) 8y8% S wlo Bor grdo Bn§), 200 BAHET LK S BB,
(2) pHdend 7 Ho0d 14 & 264 Fod, @dwos® [H'] ©oirs mEd &k Hhdod.
(3) @000 wakrS mEE HBAB pH dend driydod.

(4) pH dend 7 o8 803 Ho Trdwo @l Harard) 94 Gotnod.
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130. Find the wave length of a photon in nano meters with energy of 3 x 10712 erg.
3x 10712 S50 #§ Ho ol PrdS So¥), ol 8o2,89) S Dot §<‘63§‘Zroc';’9

[A=6.6256 x 10727 erg-sec; C =3 x 108 m/s]
(1) 662 2) 662 3) 1324 4) 6.62

—

131. Choose the correct set of quantum numbers of the differentiating electron of a neutral
calcium atom.

St 5790500 BEBreadsd Gy BEHBY Qe.:@“’S FBoog), HOGS F7g0t0 Bopge I8
Qéoﬁ‘oc%

1

(1) n=4,l=0,mL:1,mS=+5 2) rn=4,1=0,m =0,m; =——
‘ ' : ' 1
(3) n:45l=0’mL:0’mS=0 (4) n=4,121,mL=0,ms=—5
132. Which of the following pair is not containing equal number of electrons?
Bod °AS° & JopgS® Jogoods 07 wodd ud 08?
(1) N#, 0% (2) Na*,C*+ (3) F AP (4) Mg*,0*

133. The electronic configuration of an ion A2* is 2, 8, 14. If its mass number is 56, the number
of neutrons in its nucleus are

w8 A2 0oird ool JoEs dTrgdo 2,8, 14. o 555078 Sowg 56 ®ond o So|Eods’®

. o 263“8@3150 Do . _
(1) 32 (2) 42 - (3) 30 (4) 56

134. Three elements P, Q and R have atomic numbers Z, Z—1 and Z + 2 respectively. P is the noble
gas. The formula of compound formed between Q and R will be

P, Q 58050 R @03 S Soroste H05700 & Dopgew $&Rdm Z, Z—1 Hoboskn Z+2,
P escs) arasnd. Q 08050 Re 0¢85 AEVE 63;@)1%‘360 B0,
(1) QR, . (2) RQ, (3) RQ (4) QR,

[35. Which of the following metal was not placed in the eighth group of the modified
- Mendeleev’s periodic table?

(1) Sodium (2) Nickel - (3) Platinum (4) Iron

| & (808 TS BBBoTMAS HotdS wSyS HEES® IVMWES (orey Hoth GowWd S0
8. : ' . _
(1) 6o 2) J3S (3) 8o (4) assw
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13 6. How many ofthe following statements are not true regardmg long form of perlodlc table?
a) = Phosphorus is the only non metal in 15% group.
'b) Elements.in I a group are metallic in nature.

¢} Themetal present in Chalcogen family i is Tellunum

d) Halogen group is the only group in the periodic table (long form) w1th0ut any metal
present in it.-

_ &')gaé 8368 HGE8 Sowohod & Léo&s FBS* IR a‘s*ge;a Bégo s,
-a) 15% Lrimg)eS“ o J88 oS'dro FHED :
b) | [, frRS* o Swroser &4 conge,ra’)oc‘so 593 ﬁroé.ro:o 7
c) woas §3éaooaaoe5“ fo S'dro Bordabo.
d D8 6348 HFEs’ S*5o8 D8 @ia%g) S5t Q‘img) 7
1 . 2) 2 3 3 @) 4

137. Theelements A B,C,D and E hav1ng atomic numbers 9, 10, 11, 12 and 17 reSpectlvely,
then the increasing order of atomic radii is

A, B, C,D %8a85» E Sorosras S5 9 10, 11, 12 3’)3802500 17 oada’mem (oosugeno EON
a0, oS I3 HESremd H0Er0 84 Ls’éoo '
(1)  B<A<E<D<C. ' (2) B<A<E<C<D
(3)° A<B<C<E<D (4 B<A<C<E<D’

138. Number of elements present in the second perlod of modern per1od1c table
BDS &95656 HPE Socd 28 58cHES Ko Swrose dowg .
(1) 2 @ 8 - (3 18 (4)' 32

139. Formula of a Metallic oxide is M,0,. The formula of its phosphate will be
af % @3‘35 S M O;. & &y ircﬁoé)@ '
(1) M,PO, (2) ‘MPO, (3) M LPO);  (4) M,;(POy,

140. What is the covalency of Oxygen atom in water molecule‘7
$He3 @em@eﬁ"' wdins HESrd g, ‘ooo?maé‘\)oﬁaé (&° 3&35)‘3) Qoé‘?
(1) 2 (2) 4 @6 (4) 8

141. Which of the followmg is an electron deficient molecule‘?
& Bod TRS® TS FES fo w0 267 - |
(1) NH, (2) BF, (3). C,H, ' (4) IH'20 ’
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142. The electronic configurations of four elements A, B, C and D respectlvely 15% 252 2p° 352 3p°,
152 252 2p5 352, 15% 252 2p8 35! and 152 25% 2p*. The formulae of jonic compounds formed
between these elements are :

A, B, C %0805» D o3 e Xm"eas“e.a 930@15 DTgren SSdm Ls? 2.5'2 2p0 352, 152
252 2p8 352, 152 252 2p5 35! B2B0%0 162 252 2p4 & Srose :mg DEYE ©osrdE
oﬁa&)@’a‘o ;}63&0103 '

(1) CAAB,CD,BD . . . (2) CA, BAZ, CD,, BD
(3) C,A,BA,,C,D,BD (4) CA,BA,,C,D,BD
143. Match the f‘ollowing. _ _

- Ore - Metal

A) Pyrolusite . i) Magnesium

B) Magnetite . ii) Sodium

. C) Lime stone tii) Tron

D) Haematite a _ - iv) Calcium

| v) Manganese
8ol B 2EHSTod.

T N | S0
A) ’ﬂﬁ‘wg’ﬁﬁ : _ i) iﬁoﬁj&aoﬁ:o‘
B) SrfBs . | i)  &&aHo
C) 8 %55 (éo:éal@c"ew) : 1) 263
D) &8s : : A v) =900
| | V) SrofdS

(1) A-(v), B-(iii), C~(iv), D-(iii)
(2)  A~(ii), B-(i), C-(iv), D-(iii)
(3)" A-(v), B-(i), C-(iv), D-(iii)
(4) A-(v); B~(i), C-(ii), D-(iii)

144. Which of the following metal displaces Hydrogen from Cold Water?

(1) Zinc (2) Mercury (3) Calcium (4)  Aluminium
8od &r8e* O o S A Sood &S %“;6@;50'50. BobR0b.
(1) ®o§ (2) >E8%0 (3) 50 (4) sorgDdHo
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145.
. Zinc, Mercury, Gold, Iron, Calcium, Sodium

Arrange thefollo‘wing metals in the increasing order of their reac;tivify.
(1) Gold <Mercury <Iron < Zinc < Calcium < _Sodiurn
(2) = Gold <Mercury < Iron < Calcium < Zinc < Sodium

- (3) . Sodium < Calcium < Iron < Zinc < Mercury < Gold

(4) Gold <Mercury <Zinc < Iron < Calcium < Sodium
Bod S*Hos o8 Horgrod G, eR Elos® wldod.
20§, >EEd0, oo, Bddw, 570, DHSHO

(1) wondo <&rE8do <adhdn <zof <s*dobho <F&obHo
(2) womdo <risdo <aosn <smPoio <o <FGoDo
(3) &oPo <5°Qo0 <@ <208 <NEED0 <womso
(4) womrdo<rEsdo <@of <aldn <srdoko <FEDo

146. Choose the correct matching from the following. _ .
i) CH,+Cl, 2t CH,CI+HCl . a) Combustion reaction
ii) © CH,COOH+C,H,OH 280 . p)  Substitution reaction
CH,COOC,H; + H,0 |
iii) C,H;0H+30,——>CO, +3H,0+Energy - ¢} Fermentation
f iv) CeH ;04 ﬁﬂczHSOH-}- 2CO, d) Esterification reaction
Bod &3 od OGS BEBLWLK ISNF0s.
i) CH,+ClL,—2%% ,CH.Cl+HCl ) SESEaH
ii) CH,COOH +C,H,OH —T8H280 , b) . ©&EH S5
CH,COOC,H; + H,0 '
iii) C,H;OH+30,——>CO, +3H,0+%§ ¢)’ 8eag BB
iv)  CoHi0g —5oaig 2C,H;OH +2C0, d) 685 B0
(1) ()b, (i)-c, (iii)-a, (iv)-d (2)  (D-a, (i)-d, (iii)-c, (iv)-b
(3) (@b, (ii)-d, (iii)-a, (iv)-c (4) (i)-b, (ii)-d, (iii)-c, (iv)-a
147. Which of the following is not an amorphous allotropic form of carbon? N .
(1) Graphite (2) Coal (3) Lampblack (4) Sugar Charcoal
& 800 TS BYS Do, VHBE ErTrodso G IB?
(1) o8 (2) & (3) %ol d (4) €88 58S -
148. Which of the following chemical reaction does not take place inside the blast furnace? |
T FON S0 & 1§08 CFCHE WEGRST IO 2EHE?
(1) ZnS+30,——>2Zn0 +2S0, (2) Fe,0; +3CO——2Fe+3CO,
(3). CaCO;——Ca0+CO, (4) CaO+Si0, —> CaSiO,
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149. A compound ‘X’ formed by the reaction of alkaline KMnO, with the compound ‘Y’
compound ‘X* also react with *Y” in presence of con. H,SO, to form a sweet smelling
compound ‘Z’. Then what are “X’, °Y”, *Z’ respectively?

(1) Ethanoic acid, Ethanal, Ethylacetate

(2) Ethanoic acid, Ethanol, Ethene

(3) Ethanoicacid, Ethanol, Ethylethanoate

(4) Ethanoicacid, Ethene, Ethylethanoate

_933@)@’260 > wabdyes KMnO, & $85S0b &3;@)@5;60 ‘X% Qcﬁgﬁﬁ)o& :\:»33&%‘60 X res
H,80, d&gos® ‘Y & zﬁdsﬁ"oé 8a%gd T3S fo SBoydo 77 B Sra 26Y0008.
©o0d S&dm X, Y, ‘Z’ w0 J03?

(1) =800 vwio, agaS, agd RNBE

(2) 26FonE wiyo, agS'S, HHS

(3) 2ESTonE w0, ESS, PSRETS0E

(4) adSFons efpo, HE], APSRETDET

150. Choose the correct matching.

i) H,C-CH-C=CH a) Pent-2-yne;1-oic acid
c |
i) H,C—CH,-C=C-COOH b)  4-Methyl Pent-1-yne
CH, |
iii) HC=C-CH,- (|3H ~CH, ¢) Hex-5-ene-2-yne

i) H,C=CH-CH,~C=C-CH, d) 3-Methylbut-l-yne
HOGS wEBEWLI I 0d. :

1) . H,C-CH-C=CH a) 3305-2'-395-1-&0;\35 wlg0
[ )
CH, .
ii) H,C-CH,-C=C-COOH b) 4-2035 Do5-1-03
i
iii) HC=C-CH,-CH-CH, ¢) WE-5-65-2-08
iv) H,C=CH-CH,~C=C-CH; d) 3-236 args-1-08
(1) ()-d, Gi)-a, (iii)-b, (iv)-c (2)  (i)-d, (ii)-b, (iii)-a, (iv)-c.
(3) (), (ii)-a, (iii)-c, (iv)-b 4) ()<, (ii)-a, (iii)-b, (iv)-d
o Oo000a0g ;
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